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Time Allowed: 90 minutes
Woelghting: 35%

Directions:

Answer all questions In the space provided.
Show all necessary warking,

Where more than one mark is allocated to a question, full marks will not be awarded

for answers only
Marks may not be awarded for careless or badly arranged work

Calculators may be used

CONSUMER ARITHMETIC {22 marks)

1. Peter’s salary is $70 000 and he gets'a pay rise of 4% every year. What will his
salary be after 3 years? .

2. Frank earns $1550 per week.

I. - How much will he receive for holiday loading if he is entitled to 17.5%
of 4 weeks’ wage?

|

ii.  How much will Frank receive in total when he leaves for his 4 weeks
holiday.

| Consumer Arithmetic /22
Cuo;'dir;'éte Geometry /?1
Statistics 714 -
Trigonametry /23

TOTAL

/80

3. What Is the final price if successive discounts of 20% and 10 % are applied to a
. retail price of $18007

\




. Steven received a salary of 385500 and other income ( investments) of $1200
during the year. His total tax deductions were 53408, He had alr&fady paid tax
instalments amounting to $17000 for the year. :

S0

$18,201 - $37,000 | 19¢ for each $1 over $18,200

$37,001 - 580,000 $3,572 plus 32.5¢ for each $1 over
337,600

$80,001 - $180,000 $17,547 plus 37¢ for each 31 over
$80,000

Over $180,000 $54,547 plus 45¢ for each $1 over
$180,000

. Whatis Steven’s total income. ’ _
- e * T

li. What s his taxable Income?

fl.  Calculate the amount Steven needs to pay for the Medicare levy
{1.5% of taxabie income).

iv. IsStevenentitledtoa refur)_d-o’r_doies he owe money, and what is the
amount?

6. Frank earns 516 per hour working at the local café. His weekly shift includes

12 hours at normal time and 4 hours at “time and a half”.

a) Calculate Francis’ weekly pay.

b} Frank wants to earn $360 in a particular week. How many hours overtime
wil he need to work to achleve this?

. 5. The selling price for a television is $1240. The shop makes 40% profit on each

television sold. What was the cost price?
1

7. Patricia bought a car for $ 10050, on terms of $300 deposit and 60 monthly

repayments of $260,

a) find the total amaunt paid for the car.

X
b) What amount of interest was paid?

y
\

c) What was the amount of interest pald each ygar?

d} Find the annugl simple interest rate on the amount borrowed.

'
A

\




COORDINATE GEOMETRY (21 rnarks)

“

1. Plot the points X {-2,6) and Y {2,-2} on the followlng number plane,
: - i 3

A A

[*)

a) Whatis the gradient of the interval X7

I

b) What is the midpoint of the interval XY? ]

¢) Calculate the distance between X and Y.

r

2.The equation of a straight line fs y = 4x + 1. What is the

b -
- . e

a) Gradient . 7
1
B} ¥ Intercept
S 1
\
3.The equation of a straight linels 3x 4+ 2y —-6=10
-~ . || .
a} Findthe x and y intercepts of this line.
Xintercept: . ’ "\‘
Yinteércept: _ .,
b} Write the equation of this line iny = mx + b form. .
c) Graph the line on the axes below. 1
y
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4.Find the equation of the line that passes though the point (1,4) and has a
gradient of 2. '

STATISTICS (14 marks)

5.The line 4x + py - 2 = 0 has a gradient of 2. Find the value of p.

6.Find thoegguation of the line that passes through point A {-2, 5) and
1 .
point B {4, 3), Write this equation jn general form.

1. a) Fill in the following cumulative frequency table.

2lwlo|o|o[n]s|n]o| Mk

b}  Use the data above to find the:

1) Range:
i) Mode:
i) Mean;

iv} Median:

2. Find the interTJarti!e range for the following set of scores:

60, 78, 79,80, 83, 'sg;] £8; 90, 9;,}94, gs, 99.




3. a} Complete an ordered stem and leaf plot for the following set of 21 scores:

£ 15,18, 2?4, 10 4, B ' -
§ 16, 16,34 93,50, &

/ " ’ ;
43,27, 16,8, 2873 5

Stém Leaf | K

s W M e O

b) Comment on the shape of the data distribu/tion shown in the stem and leaf

plot. - : !

v

c) Fiﬁd the: i) mode
iiy median

ili} range

TRIGONOMETRY (23 marks)

1. Find the value of the pronumeral:

2, Findthe value of gach marked angle:
I.  tothe nearest degree,
o —

\

fi. tothe pearest minute.




3. An Isosceles triangle has the equal lengths of 30cm and a base of 40cm
Calculate the perpendicular height of thlS triangle.

4, A rectangular gate measures 2.4m by 1. 4m The gate is strengthened by 2
diaganal wooden lengths. What angle will the diagonal beam make with the /V
base length, totherueatest—mNe

! .

{
Use the diagram abbve to label any angles or lengths.

-~
a} Find the perpendicular height of the triangle. 2

o} Find the area of the triangle 2

8. Ashipisdkms from awharf on a bearing of 321°%, and a hghthouse is 12 kms
from the wharfon a bearing of 231°_ \

a) Show this Information clearly on the axés below

N

b} Find the bearing of the ship from the lighthouse. (Answer correct to the
Qearest minute;}

End of exam




6. Aslghting is taken to the top of the free, standing 30m away on level ground.
How tall Is the tree? )

e

T e

7. Arally driver drove 10km on a bearing of 018°. How far north did he travel,

to 2 decimal places?




ML

. MARCELLIN COLLEGE RANDWICK

YEAR 9

‘MATHEMATICS Stage 5.3

2014 ASSESSMENT TASK # 4

STUDENT NAME:  MASTER, Cory
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Time Allowed: 20 minutes
Weighting: 35%

Directions:

o Answer all questions in the space pravided.

s Show all necessary working. ' '

¢ Where more than one mark is allocated to a question, full marks will not be awarded
for answers only

+ Marks may not be awarded for careless or badly arranged work

¢ (Calculators may be used

- | Consumer Arithmetic ’ '7 ¥ j22
Coo'rdinhte Geometry ' — ;7 3
-Stgtis'tics o . ’ . 14 -
Trigonometry : l, /23

- ¢
TOTAL - {30

L

CONSUMER ARITHMETIC (22 marks)

1. Peter’s salary fs $70 000 and he gets a pay rise of 4% every year. What will his
salary he after 3 years?

1% 30000 _ F2800
(0D :

‘-[%% x F200 - 1§ H2

R I _ ¢
(0o

2

2. Frank earns $1550 per week.

i.  How much will he receive for holiday loading if he is entitled to 17.5%
of 4 weeks' wage?

5 (4x1550) < paas ¥ 6200
B

ii.  How much will Frank receive in total when he l2aves for his 4 weeks i
holiday.
Greo s + 1087 = a%%zi ‘{5‘?20:5‘ ,
3, What is the final price if successive discounts of 20% and 10 % are appliedtoa 2

. retail price of $18007
_,@?9 x {Z@O = l Y40
{ey

@_Q (140 5 $izac
loo ‘ ’
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4, Steven recelved a salary of $85500 and ather income ( ]nvestments) of $1200

during the year. His total tax deductions were $3408. He had alréady paid tax

instalments amounting to $17000 for the year,

$0 $18200 Nil

19¢ for each $1 over $18,200
$3,572 plus 32.5¢ for each 51 aver

$18,201 - $37,000
$37,001 - $80,000

$37,000

$80,001 - $180,000 $17,547 plus 37c for each $1 over
$80,600

Over $180,000 $54,547 plus 45¢ for each §1 over
$180,000 )

I.  Whatis Steven’s total income.

5500 } \wof\ﬁ £6>F00

il.  What s his taxable income?

$6 700 - B4OE - $%%’2ﬁ1

fii.  Calculate the amount Steven needs to pay for the Medicare levy

(1. 5% of taxable income).
« 532712 - $1gd e

[O

fv. Is Steven entitled to a refund dr does he owe maney, and what fs the

wﬁqﬁf}ﬁ’?! rourt RN W e,
(7547 45 g
L|5r+ §92. 0% i

2

© e it A b ancses e ks 1 ovn ot b 4 5

ot - [

L.09

5. The selling price for a television is $1240, The shop makes 40% profit on each
television sold. What was the cost price?
L

‘o4 = Yo
B,

(7% =

Py 4. Pl
o0/ = J9e . F (29 <

6. Frank earns $16 per hour working at the focal café, His weekly shift Includes
12 hours at normal time znd 4 hours at “time and a half”.

a} Calculate Francis’ {Jeekl—y éy. 7 T 1
(128 f{axiexts) = 92 49c
' - J268
h) Frank wants to earn $360 In a particular week. How many hours overtime 2
will he need to work to achieve this? - L8
) fox ¥k = 16§ =
§ @mfg) } ( v x1bx 13
2 = _“_'_’1
N+ (lbxvi-f> 260 te 6
- -5
192 [ x= 7
: s o panad o 4

7. Patricia bought a ¢ar for $ 10050, on terms of $300 deposit and 60 monthly
repayments of $260. :

a) Find the total amount paid for the car, -2
" 200 4 éong, o) = 300t 15600
!
= $f§ Q00
k) What amount of interest was pald? . . i
T - 15906- 0050
- o85O
¢) What was the amount of interest paid each‘y‘gar? . i
0 =% '
5850 =5 &W)#O
d} Find the annual simple interest rate on the amount borrowed, _ -A 2
. ® ﬁ-. éCV ° 3
.U—:}—Q‘ H_?_o; () A/%WJ ot 0010

E

7-4-3,

et

'¢??m



COORDINATE GEOMETRY {21 marks) 2.The equation of a straight line is y = 4.-7: + 1. What Is the

a) Gradient = Lf
1. Plot the points X{ -2,6) and ¥ {2,-2) on the foliowlng number plane. s B} Yintercept =1
x(28) y o
3
[ 5
4 -
- ‘ : s PR 52
3 _ ‘ ' 2% b % o]
T r -
: - : L —2%13
) : .| x . v T3
5 |5 14 |3 2 i1 T 2 1 4 8 ¢
B . 3.The equation of a straight linels3x+ 2y -6 =0 ~2j = U~
5 | ~ -
) z ¥ (3 «2) a’:-}- > : 2 J 1,{ - ’ré
) b Y 32 o3 a) Find the x and y intercepts of this line. P
- . L 2R 3
B . . WB X intercept: é ’ - d -
1," ) . ’ 0: —1?’/)( {”s
-] Y intercept: ,5 H%“
ROye o P : ‘ dpt
. ’ C i =
a) What is the gradient of the interval XY? [‘“2/ 5) (.7’ ‘%) b} Write the equation of this lineiny = mx + b form.. 1,_?:.‘]..{’ - ,?’-
- % -k 2 ) B 13 [J‘;—
m: UL - - B j: - { X 'i‘ 3 .
ANt :Z_ﬂ ’ . . L :
- —-5‘ = .,2 1
~ “f A g
b) What is the midpaint of the interval X¥? Cf’)« é) CZ—/-—Z)
2 - c) Graph the ling on the axes below.
()(rh)h Yt ) . v .
_2’ - . A . I
- E e & : - NI [ : 0
- -)/ J Z ) ] N 4 L J_ 3
¢} Calculate the distance between Xand Y. ’ :
7(‘ “‘!‘6) 3= 2 2
_ (2,5 - 1 N\ |
. . . . < , X
: _ . Mg s 4 |3 2 [ £t iN3 4 5 &
2 - LS . ! - -1
by ) ] NEAwEN
g4 - - - = o I et —
4= 19 , ’ e N
1+'z) H274) _ o T _
5




Hsmt
4.Flnd the equation of the fine that passes though the point {1,4) and has a
gradient of 2. ’

% 3._‘};[:171(3{"36_1) 7:2'](.‘{“_.2
j-—ct::ZC:)C—b

Gz Pt 2
4 G
5.Theline4—x+py+2_-—:0hasagradientof?.Fincithevalueofp.
4y T
) G v

. ~ Gyt — _
gy =% =

% :,—_‘h@i*:& "P'

w07 —G4=2p

72 "t prdd

Pll gl
6.Find theu%guation of the line that passes through point A (-2, 5) and
point B f4, 3). Write this equation in general form.

O = ~—2)L‘~6\7 Y26

o o 31 e i '
=21ty -26
z 2 5 7
A S
1= = - Qo= XP3y =13
w2
4 e
Y 6
( (a,@ - (452 D2
BURE e

STATISTICS (14 marks)

1. a}Fill in the following cumulative frequency table.

10 El 20 2 2
i1 0 o )
12 5 b0 +
13 4 <7 1
14 5 0 [ &
5 6 o 71 22
16 5 go / 232V
17 6 1oL 23
18 3 [ 26
- 19 4 Fb JoYy®
"—I@\_j& [oX
b)  Use the data above to find the: L{L
i) Range: m-to =9 ’?
i) Mode: 19,13 e
. LO‘f —~ [g‘[
iif} Mean: Ko -
iV] Mediaﬂ: [Sj;(_f - ‘-5‘
‘2/ =
172 f-'f?('é'-

2. Find the InterTarti[e range for the following set of scores:

60, 78, 79,{80, 83, 8488; 90, 92/94, 95, 99.

Q"L:E\Bif’. N /
5] )

= §h

alz 31-5

o I@.p—: 3% .Gt
= 9% -¥%s
= (’5:(

-

2




3. a) Complete an ordered stem and leaf plot for the following set of 21 scores: ) ' TRIGONOMETRY {23 marks)

——— 1. Find the value of the pronumeral:

15, 10,25,34, 18 8. . :
#1o SR MR g .
916163595508 1 S0 gL L i 4
41, 27’,[1’5,3,2(8;33’,5;4'. ~2 SJ‘:}Q}F_,‘. e , Ly .
: R 2’,";'1' T ' X80 ;_L}W
£ lJLf} Sln%gh go .
Stem Leaf , BO i
~ O SN . o
0 by 3 .9 19 /, : ’} 2 Ej"‘ : JndF (2 = x
1 4 Es 4 . ) . i )
! © s o /‘(A ’S g . G/ H: 401{“'}3\./ ‘ = .ﬁ'—:—:}:
S A / " | S B
3 .
1) 2, A . : . _ 2. Findthevalue of gach marked angle: . s f i :
4 V3 i tothenmrief_ o= _yo‘f(%d’r
E 5 1, U Cos 9+ z
2 s

Q- cos' &

b) Comment on the shape of the data distribution shown in the stefn and leaf

: 1 e - 0= 5({0}4/
& = 5&° (neors? "(7@

) Fiﬁdthe:]}mcde - 1’4 l/ ‘ |1 ’
yd , Q =5y (nearerr-olegree |
ity median = [ 6 ¢ | {1

plot. Tf ¢ rg;,‘},’g@ij ;}m} g

R / bos < :
iit) range ) g4 ~ 1 &6 . fi. tothe nearest minute. 3
- ————




sl

An lsasceles trlangle has the equal lengths of 30cm and a base of 40cm.

Calculate the perpendicufar height of this triangle. NI 2
2 - ' C _'ZC{ %
3
L0 =T . 2. 1 {_‘ﬁ
Sth ?.O /. l z o b 1 2D < ?}D =z 10
3"“}&’”{ . i.lfi i : . DS /2
1[:546‘0 s _._L_:q e 1o r
e o A
= 20— 'JL“ 3L on ( 2_-(.»)
7 tan 65 '
4. A rectangular gate measures 2.4m by 1.4m. The gate is strengthened by
= diagonal wooden lengths. What angle will the dlagonal beam make with the /]/ !

1

&mg b
L.t
s%v (mwﬂ%}w/

base length, to theroea:est-mln\t.e

5.

2

If all sides of an equilateral triangle are 2 cm, find the ee@g_ga_'ue of sin 60,

'E

Lafumbe= sin0= "5

L)
Use the dia'gram above to label any angles or lengths. 7/
a) Find the perpendicular height of the trla?\gle.
‘OI;‘IQ' H; -
¥ gz thbT . {\r 30:/(5 _ \ P
e S 1. - -
Lm;-?,'l /@ = b: ‘..}3(:251]’ ¢

' )
b) Find the area of the triangle

1 xbx&

.—w’)w\)/ | ) [/

L HD 2 ena (")j/f /?3

] O

—

A sighting is taken to the top of the free, standing 3{3!;n away on level ground. 2

A
q

How tall is the treeL
=

£25 3

hiad S o

90¢an 2570
e 1298922 7

1‘5 m
heggt = BT
2 1549 m{2dp))
7. Arally driver drove 10km on a kearing of 018", How far north did he travel, Con
9 2 Jeg

to 2 decimal places?

¥{@

(o3 f8° 1o

x_{o

[Ocosld = 2

),




8. Ashipis 4 kms from a wharf on a bearing of 321°, and a lighthouse is 12 ks

from the wharf on a bearing of 231°__

a) Show this information clearly on the axés below

=

AN

YA ] ;_"Toa

N

.
A

b} Find the hearing of the ship from
nearest minute.)

the lighthouse,

{Answer correct to the W

h = 8§+39°

End of exam

< 13.4‘5({?{32 t2

= Srfagesy
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